H & 0l & At H A M

2018 =0l &F LBHSIH DIEISEH =SAHE
2A: SHD
HH: HHS2HAH|(2MH)
chelr JI23H|
SA - B BRIE) - AIRAR - BES ofl&soy b
=AY 281,700 280, 100 ,600
HH2HZHI(S M) 85,610 83,970 ,640
JI=238l 85,610 83,970 ,640
Jl=&Hl 85,610 83,970 ,640
201 =] 50,330 48,690 ,640
01 Attt 28,330 26,690 ,640
Oget=EH] 28,330
0JIEANFESHI 100,000 *14¢! 1,400
OAFIDD K E MRS 7,500,000 7,500
0J1eH=al| 7,850,000 7,850
0ESaEAAL2EAY 150,000 *8IH 2= 1,200
0 =AH| 60,0002 *121x117& 7,020
OSiQHHR=NZA| 8,0002+30&*14¢! 3,360
02 524 22,000 22,000
O&E32= % MAl 11,000
0RERS 2,000,000 2,000
(GSPIRea=, 8,000,000& 8,000
0=C2SAMAMSU=S 1,000,000& 1,000
Og=H| 1,000,000& 1,000
OF AN E =X 3,000,000& 3,000
OXt&= Al 7,000,000& 7,000
202 O 35,280 35,280
01 =LH04HI 35,280 35,280
OJ |2 F=~0i| 200,000&*14¢1+12& 33,600
O&S0d 10,0003 1421x 122 1,680
HHXX2E(SAHY) 10,160 10,200
EAZH2SE 10,160 10,200
elEEa3l 10,160 10,200
203 =8| 10,160 10,200
01 V228 R =4H| 6,600 6,600
OJ|2=2ggR=d 6,600,000 6,600
02 FEIHER =N 560 600
OFEIMHR= 40,0003 *14E 560
04 FAEZER =L 3,000 3,000
OFA2gE 2= 250,0002 %123 3,000
SAY 23X 95,930 95,930
SclSHEXIE 3 88,430 88,430
Scleas=2d 88,430 88,430
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